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Gas constant -- R =0.0821 (L - atm) / (mol - K)

Atomic mass -- _H 1.008; C: 12 01; O: 16.00; Na 22, 99 Cl::35.45; K: 39.10; Ca: 40 08;
Ti: 47.87; Cr: 52. 00 Zn: 65.39; W: 183. 84; Pb: 207.2 '

L (12pts) R4 B eIEL 2L ‘6192°F  H 2B AR RIEECC) AT ?

. (12 pts.) #4k4 B #& % rutile (TiO,) ‘PT&}}?&%E&K (Tltanlurn Ti) fo'i TE %
VN B A rutile > 7 SEHR H 100.0 Kg éﬁﬁgﬁ? |

L (12pts) 3R £RE 250 mL 0.100M &) Fo5 8087 (KoCri0y) ik FREH 5
Vs EEEBRST 7

IV. (12pts.) #HERABML izﬁif*‘* mm 292 FL % ﬁﬁi%é}%éi}&‘

V. (12 pts.) éﬁé@m%%mu@cﬁma%é@%ﬂﬁ& PR R EMEEORER
495 pm. 3 B ﬁ:&é’a’-}?-}’-é’ﬂaiﬁﬁ%ﬁ ? (picometeré = 10" meter)

VI. (20 pts.) Hydrogen gas can be prepared by reaction of zinc metal with aqueous HCI.
Zngy +2HClg,y =2 ZnCly ¢ + Hy. . How mén’y liters of H, would be formed
at 742 mmHg and 15 °C if 25.50 g of zinc was aIlowed to react?

VIL.(20 pts.) Strontium-90, a radioactive isotope, is a major product of an atomic bomb
explosion. It has a half-life of 28.1 year. Calculate the number of years required for

99.0 percent of PSr to disappear.'
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